
104

106

PEUGEOT

104
104 Coupe

10/1972 - 06/1988
09/1973 - 06/1988

05/1996 -->  

3

10PE250010PE2500

2

17PE050117PE0500

4

1

26CT0200

106 (1A, 1C)
106 II (1)
106 Van (1_)

09/1991 - 04/1996
04/1996 - 05/2005
09/1991 - 03/2001

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
3817 50 

3812 97 

 

Tie Rod End  

Axial Joint 

c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:317,5mm 

17PE1502 

20PE03 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

3640 36 

3817 41 

3817 42 

5087 40 

Ball Joint Lower 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

 

do:Ø36,9 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

L:309,5mm  

10PE2500 

17PE0500 

17PE0501 

26CT0200 

17PE1502 17PE1502

11

20PE03 20PE03
2

GL Chass.  5675804 -->
SL, GL4 Chass. 7182578 -->
COUPE Chass. 5684441 -->

26CT0200



205
PEUGEOT

205 (741A/C)
205 I Convertible (741B, 20D)
205 II (20A/C)

02/1983  09/1987
04/1986  12/1994
01/1987  09/1998

-
-
-

Exc. Box and Van  

EXC. GTI - RALLYE - DIESEL  

26PE0100

55

26PE0100

17PE1502 17PE1502
20PE03

23PE1000 23PE1001

20PE03

2

11

43

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

3817 50 

3812 97   

3520 51 

3521 34 

5087 32  

Tie Rod End 

Axial Joint 

TCA 

TCA 

Stabiliser Link 

 

c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:317,5mm 

c:Ø15,95   

c:Ø15,95   

  

17PE1502 

20PE03 

23PE1000 

23PE1001 

26PE0100 



206
PEUGEOT

206 (2A/C)
206 CC (2D)
206 SW (2E/K)
206+ (T3E)

09/1998 -->
09/2000  12/2008
07/2002 -> 
01/2009 ->

-

ALL EXC. Convertible

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

3817 41 

3817 42 

3812 C5 

3520 G8 

3521 C8 

3520 P2 

353521 K2 

5087 59 

3523 76 

3523 92 

3523 AS 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

TCA Left 

TCA Right 

TCA Left 

TTCA Right 

Stabiliser Link 

Stabiliser Mounting 

Stabiliser Mounting 

Stabiliser Mounting 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

th:MM14x1.5 RHT L:301,5mm 

c:Ø17,95   

c:Ø17,95   

c:Ø17,95   

c:Øc:Ø17,95   

L:335mm  

di:Ø14,1 do:Ø55 

di:Ø14,1 do:Ø55,3 

  

17PE0500 

17PE0501 

20PE0600 

23PE0600 

23PE0601 

23PE0610 

23PE023PE0611 

26PE0600 

38PE0600 

38PE0605 

38PE0610 

8 8

54
9

10

26PE0600

17PE050017PE0501 20PE0600

38PE0600

38PE0605

26PE0600

23PE060123PE0600

3
12

20PE0600

Exc. 16V
--> 09/2002

76

11

9

38PE0600

38PE0610

23PE061123PE0610

16V
--> 12/2002
EXC. 206+



207
PEUGEOT

207 (WA_,WC_)
207 SW (WK_)
207 CC (WD_)

05/2006 -->
02/2007 -->
02/2007  12/2014-

20PE090017PE0900

4
32

17PE0901

26PE0901 26PE0900

38CT0310

38CT0311
1 1

8

7

20PE0900

10CT0600 10CT0600

6 5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

3640 65 

3817 67 

3817 68 

3812 E8 

5087 68 

5087 69 

3523 CC3523 CC 

3523 CE 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Right 

Stabiliser Link Left

Silentblock Silentblock For TCA 

Silentblock For TCA 

c:Ø18    

c:Ø12,1 th:FM16x1,5 RHT 

c:Ø12,1 th:FM16x1,5 RHT 

th:MM12x1 RHT L:210,5mm 

L:329mm  

L:329mm  

di:Ødi:Ø14,2 do:Ø56,6 

di:Ø14,2 do:Ø56,6 

10CT0600 

17PE0900 

17PE0901 

20PE0900 

26PE0900 

26PE0901 

38CT038CT0310 

38CT0311 



PEUGEOT
208

208 05/2012 -->

-

1011

10CT0610 10CT0610

26PE0901 26PE0600 26PE0600

11

33

22

12

26PE0901

17PE0400

9

THP/GTI

STANDARD SUSP
 EXC. XY

STANDARD SUSP.
XY

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

3

4

5

6

7

88

9

10

11

12

3640 77 

3640 78 

16 080 251 80 

16 080 252 80 

3817 67  

3817 68  

116 086 521 80 

16 108 176 80 

5087 71 

5087 69 

3523 EA 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Axial JointAxial Joint 

Axial Joint 

Stabiliser Link 

Stabiliser Link 

Silentblock For TCA 

 

c:Ø18    

c:Ø18    

c:Ø 12,1 th:FM14x1,5 RHT 

c:Ø 12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM16x1,5 RHT 

c:Ø12,1 th:FM16x1,5 RHT 

th:MM12xth:MM12x1.0 RHT L:230mm 

th:MM12x1.0 RHT L:225mm 

L:335mm  

L:329mm  

di:Ø18 do:Ø55,3 

10CT0610 

10PE0400 

17PE0400 

17PE0401 

17PE0900 

17PE0901 

20CT120020CT1200 

20PE0400 

26PE0600 

26PE0901 

38CT0300 

10PE0400 10PE040038CT0300

12

38CT0300

54

17PE0401
20PE0400

17PE0900

8
76

17PE0901
20CT120020CT1200

20PE0400



PEUGEOT
208

208 05/2012 -->

-

114

13

BRAKE DISC CONTINENTAL
Ø302   

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

13

14

3640 65

3523 CC 

3523 CE 

Ball Joint

Silentblock For TCA 

Silentblock For TCA 

 

c:Ø18   

di:Ø14,2 do:Ø56,6 

di:Ø14,2 do:Ø56,6 

10CT0600

38CT0310 

38CT0311 

10CT0600

1

10CT0600 38CT0311

38CT0310



PEUGEOT
301

301 11/2012 -->

-

17PE0900

4
32

17PE0901

26PE0901 26PE0900

38CT0310

38CT0311

1

8

7

20CT1200

10CT0610

6 5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

3640 77 

3817 67 

3817 68 

16 086 521 80 

5087 68 

5067 69 

3523 CC3523 CC 

3523 CE 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link 

Silentblock Silentblock For TCA 

Silentblock For TCA 

 

c:Ø18    

c:Ø12,1 th:FM16x1,5 RHT 

c:Ø12,1 th:FM16x1,5 RHT 

th:MM12x1.0 RHT L:230mm 

L:329mm  

L:329mm  

di:Ødi:Ø14,2 do:Ø56,6 

di:Ø14,2 do:Ø56,6 

10CT0610 

17PE0900 

17PE0901 

20CT1200 

26PE0900 

26PE0901 

38CT038CT0310 

38CT0311 

1

10CT0610

20CT1200



304

305

PEUGEOT

304 (04M)
304 Break (04D)
304 Convetible (04B)
304 Coupe (04C)

10/1969 - 10/1979
09/1970 - 10/1980
03/1970 - 07/1976

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
3817 50 

3812 93 

Tie Rod End  

Axial Joint 

c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:317,5mm 

17PE1502 

20PE03 

17PE1502 17PE1502

11

ALL EXC. Convertible

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
3817 50 

3812 95 

Tie Rod End 

Axial Joint 

c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:317,5mm 

17PE1502 

20PE03 

17PE1502 17PE1502
20PE03 20PE03

2
11

305 (581A) ((581D) 11/1977 - 09/1982

ALL EXC. Convertible

20PE03 20PE03
2

Break



305
PEUGEOT

305 II (581M)
305 II Break (581E)

07/1982  07/1990-

--> 07/1984 XU Engine

XU Engine 08/1984 --> 

Exc. Xu Engine

3

10PE140010PE1400

2

17PE050117PE0500

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

3640 21 

3817 41 

3817 42 

3817 50 

3817 48 

3817 49 

33812 95 

Ball Joint Lower 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End 

Tie Rod End Left 

Tie Rod End Right 

Axial JointAxial Joint 

th:M12x1.25 RHT  cp:1/8 cs:Ø14,4 th2:M38x1.5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø11,95 th:MM14x1,5 RHT 

c:Ø12 th:MM14x1,5 RHT 

c:Ø12 th:MM14x1,5 RHT 

th:MM12xth:MM12x1.0 RHT L:317,5mm 

10PE1400 

17PE0500 

17PE0501 

17PE1502 

17PE2000 

17PE2001 

20PE0320PE03 

17PE1502 17PE1502

17PE200117PE2000

20PE03 20PE03
7

44

65



PEUGEOT
306

306 (N3, N5) 05/1993  12/2002-

-

6

7

26CT0300

26PE1000

7

5
44

1

PS
-->01/1999

20PE1000

10PE1000

17PE1502 17PE1502
20PE1000

10PE1000

26PE1000

Exc. BreakExc. Break

26CT0300

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

4

5

6

7

3640 37

3817 50 

3812 92 

5087 61 

5087 42 

Ball Joint

Tie Rod End 

Axial Joint 

Stabiliser Link 

Stabiliser Link 

 

c:Ø16   

c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:351,5mm 

L:300mm  

L:300mm Plastic 

10PE1000

17PE1502 

20PE1000 

26CT0300 

26PE1000 



PEUGEOT
306

306 (N3, N5) 05/1993  12/2002-

-

8

10

12

9

11

13

30PE1000

30PE1005 

30PE1010 

30PE1001

30PE1006 

30PE1011 

14
15

2

MS 

PSPS

MS 

10PE1001

2

10PE1001 3

38CT0208
Ø8Ø10

38CT0210

10PE1002

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

3

8

9

10

11

1212

13

14

15

3640 44 

3640 48 

3521 55 

3520 H3 

3521.E3 

3520.A2 

353521.A1 

3520.F1 

3523 75 

3523 75 

Ball Joint 

Ball Joint

TCA Right 

TCA Left 

TCA Right 

TCA Left 

TTCA Right 

TCA Left 

Silentblock For TCA 

Silentblock For TCA 

 

c:Ø16    

c:Ø18    

 

 

 

 

  

 

di:Ø18,7  

di:Ø18,7  

10PE1001 

10PE1002 

30PE1000 

30PE1001 

30PE1005 

30PE1006 

30PE30PE1010 

30PE1011 

38CT0208 

38CT0210 

3

10PE1002



307
PEUGEOT

307 (3A/C)
307 Break (3E)
307 SW (3H)
307 CC (3B)

09/2001 >
03/2002  12/2009
03/2002  12/2009
10/2003  04/2009

-
-
-
-

9 9

-> ORG 10311

ORG 10311 -> 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

3

4

5

6

9

3817 42 

3817 41 

3817 50 

3812 E0 

3812 E5 

5087 77

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End 

Axial Joint 

Axial Joint 

Stabiliser Link 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø11,95 th:MM14x1,5 RHT 

th:MM14x1.5 RHT L:321,5mm 

th:MM14x1,5 RHT L:342,5mm

L:335mm 

17PE0500 

17PE0501 

17PE1502 

20PE0800 

20PE0805 

26PE0800

5
3 2

44

6

20PE0800

20PE0805 20PE0805

17PE0501

17PE1502 17PE1502

17PE0500

20PE0800

26PE080026PE0800



307
PEUGEOT

307 (3A/C)
307 Break (3E)
307 SW (3H)
307 CC (3B)

09/2001 >
03/2002  12/2009
03/2002  12/2009
10/2003  04/2009

-
-
-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

7

8

10

11

3640 68

3520 K8 

3521 G8 

3523 92 

3523 91 

Ball Joint

TCA Left 

TCA Right 

Silentblock For TCA 

Silentblock For TCA 

 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT

di:Ø14,1 do:Ø55,3 

di:Ø14,2 do:Ø55 

10PE1003

23PE0800 

23PE0801 

38PE0605 

38PE0800 

7 8

1 1

11

10

23PE0800

-> ORG 10884 -> ORG 10884

23PE0801

38PE0800

38PE0605

10PE100310PE1003



308
PEUGEOT

308 (4A_, 4C_)
308 CC
308 SW

09/2007 >
04/2009 >
09/2007 >

-
-
-

26PE1105

17PE1105
20PE1107 20PE1107

38PE080017CT1000

38PE0605

10PE1003

17PE1106

26PE1105

6 6

5

8

7

38PE0605

7

1

10PE1003

1

43

2

38PE0800

8

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

3640 68 

 

3817 89 

3817 88 

3812 F2 

5087 57 

3523 923523 92 

3523 91 

Ball Joint 

Tie Rod End 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock Silentblock For TCA 

Silentblock For TCA 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

THP/HDI165 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:276mm 

L:334mm  

di:Ødi:Ø14,1 do:Ø55,3 

di:Ø14,2 do:Ø55 

10PE1003 

17CT1000 

17PE1105 

17PE1106 

20PE1107 

26PE1105 

38PE060538PE0605 

38PE0800 

THP/GTI

17CT1000



308

309

PEUGEOT

308 II (T9) 
308 SW II 

09/2013 >
03/2014  >

-
-

26PE1105 26PE1105

5 5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 5087 57Stabiliser Link L:334mm 26PE1105

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

3817 50 

96 136 394 

5087 32  

Tie Rod End 

Axial Joint 

Stabiliser Link 

 

c:Ø11,95 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:317,5mm 

  

17PE1502 

20PE03 

26PE0100 

309 10/1985 - 12/1993

-

17PE1502 17PE1502
20PE03 20PE03

2
11

26PE010026PE0100

3

GTI - TD



PEUGEOT
405

405 01/1987  10/1996-

-

17PE2000

5

1

43

17PE2001
20PE90

10PE1400

20PE90

EXC 2.0 TURBO

-> CHAS 71358279

10PE1400

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

3640 21 

3640 71 

3817 48 

3817 49 

3812 98 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

th:M12x1.25 RHT  cp:1/8 cs:Ø14,4 th2:M38x1.5 RHT 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 th2:M40x1.5 RHT 

c:Ø12 th:MM14x1,5 RHT 

c:Ø12 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:184,5mm 

10PE1400 

10PE2000 

17PE2000 

17PE2001 

20PE90 

10PE2000

CHAS 71358280 ->

10PE2000



PEUGEOT
406

406 10/1995  10/2004-

-

9

1 1

7

8

7

8

26PE250226PE2502

10PE2000

66

26CT0200

--> 11/1997
--> Org. 7664

--> 11/1997
--> Org. 7664

12/1997 ->
Org. 7665 ->

12/1997 ->
Org. 7665 ->

26CT0200
-> 10/1998

17PE0500

5

-> ORG 67664 

2

43

10PE2000

11PE2500

26PE2500

26PE2501

26PE2500

17PE0501
20PE250020PE2500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

3640 71 

3640 35 

3817 41 

3817 42 

3812 A9 

5087 40 

55178 38 

5178 39 

5087 60 

Ball Joint 

Silentblock Bushing  

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link Stabiliser Link Rear 

Stabiliser Link Rear 

Stabiliser Link 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 th2:M40x1.5 RHT 

di:Ø14 do:Ø45,05 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:314,5mm 

L:309,5mm  

L:L:160mm Plastic 

L:245,5mm  

L:320mm  

10PE2000 

11PE2500 

17PE0500 

17PE0501 

20PE2500 

26CT0200 

26PE250026PE2500 

26PE2501 

26PE2502 

26PE2501

11PE2500



PEUGEOT
407

407 05/2004 12/2010-

-

5 6

32

26PE4700 26PE4701

4

20PE4700 20PE4700 17PE4701

-> OPR 10597-> OPR 10597 All All

1

7 7

26PE470326PE4703

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

3640 70 

3817 58 

3817 57 

3812 E7 

5087 52 

5087 53 

55178 46 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Stabiliser Link Stabiliser Link Rear 

th:M14x1.5 RHT  cp:1/6 cs:Ø18 th2:M42x1.5 RHT 

c:Ø12,1 th:MM14x1,5 RHT 

c:Ø12,1 th:MM14x1,5 RHT 

th:MM16x1.5 RHT L:105mm 

L:200,5mm  

L:200,5mm  

L:L:141mm  

10PE4700 

17PE4700 

17PE4701 

20PE4700 

26PE4700 

26PE4701 

26PE26PE4703 

10PE4700 10PE4700

17PE4700



504, 505
PEUGEOT

504
505

07/1968 - 12/1989
08/1979 - 12/1993

2

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
3640 15 

3817 50 

Ball Joint 

Tie Rod End 

th:M12x1.5 RHT  cp:1/5 cs:Ø14,6 th2:M40x1.5 RHT 

c:Ø11,95 th:MM14x1,5 RHT 

10PE1500 

17PE1502 

17PE1502 17PE1502

1979 ->1979 ->

10PE1500

1

10PE1500



PEUGEOT
508

508 11/2010 -->

508 GT 11/2010 ->

2 3

26PE4700 26PE4701
1

10PE4700 10PE4700

4 4

26PE470326PE4703

-

-

1

2 2

26PE470326PE4703

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
3640 68 

5178 52 

Ball Joint 

Stabiliser Link 

 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

L:141mm  

10PE1003 

26PE4703 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

3640 74 

5087 52 

5087 53 

5178 52 

Ball Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Stabiliser Link 

 

 

th:M14x1.5 RHT  cp:1/6 cs:Ø18 th2:M42x1.5 RHT 

L:200,5mm  

L:200,5mm  

L:141mm  

10PE4700 

26PE4700 

26PE4701 

26PE4703 

10PE100310PE1003

RXH

Except RXH  HYBRID4



PEUGEOT
604

605

604 08/1975 - 07/1987

605 06/1989  09/1999

-

-

2

1

65

4

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
3640 15 

3817 50 

Ball Joint 

Tie Rod End 

th:M12x1.5 RHT  cp:1/5 cs:Ø14,6 th2:M40x1.5 RHT 

c:Ø11,95 th:MM14x1,5 RHT 

10PE1500 

17PE1502 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

3817 41 

3817 42 

3812 99 

96 080 894 

5178 43 

5178 44 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link Left 

Stabiliser Link Right 

c:Ø12,12 th:MM14x1,5 RHT 

c:Ø12,12 th:MM14x1,5 RHT 

th:MM12x1.0 RHT L:296mm 

L:318mm  

L:85,7mm  

L:85,7mm  

17PE0500 

17PE0501 

20PE0500 

26CT0100 

26PE2000 

26PE2001 

17PE1502 17PE1502

1979 ->1979 ->

10PE1500

26CT0100

26PE2001
26PE2000

26CT0100

-->1994

17PE0500

3
21

17PE0501
20PE050020PE0500

1

10PE1500

-



PEUGEOT
607

607 02/2000  07/2011-

-

-

1

4

32

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

3640 71 

5178 43 

5178 44 

5087 60 

Ball Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Stabiliser Link 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,9 th2:M40x1.5 RHT 

L:85,7mm  

L:85,7mm  

L:320mm  

10PE2000 

26PE2000 

26PE2001 

26PE2502 

26PE2001

26PE2502

10PE2000

1

10PE2000

26PE2000

26PE2502

-



PEUGEOT
806

806 06/1994  08/2002-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4059 09 

3812 A4 

5087 35 

Tie Rod End 

Axial Joint 

Stabiliser Link 

c:Ø12,6 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:306mm 

  

17FI5100 

20FI5100 

26FI5100 

26FI5100

17FI5100

20FI5100 20FI5100

26FI5100

3

2 11

17FI5100

-



PEUGEOT
1007

1007 (KM_) 04/2005 -->

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

3640 65 

3817 55 

3817 56 

3812 E1 

5087 59 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

 

c:Ø18    

c:Ø12,1 th:FM14x1,5 RHT 

c:Ø12,1 th:FM14x1,5 RHT 

th:MM12x1 RHT L:237mm 

L:335mm  

10CT0600 

17CT0600 

17CT0601 

20CT0600 

26PE0600 

5 5

26PE0600

17CT0600 17CT060120CT060020CT0600

26PE0600

4

10CT0600

1

10CT0600

1

2 3

-



PEUGEOT
2008

2008 03/2013 -->

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

12

13

3640 65 

3640 77 

16 080 251 80 

16 080 252 80 

3817 67 

3817 68 

116 108 176 80 

5087 59 

5087 68 

5067 69 

3523 EA 

3523 CC 

3523 CE 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Axial JointAxial Joint 

Stabiliser Link 

Stabiliser Link Right 

Stabiliser Link Left 

Silentblock For TCA 

Silentblock For TCA 

Silentblock For TCA 

c:Ø18    

c:Ø18    

c:Ø 12,1 th:FM14x1,5 RHT 

c:Ø 12,1 th:FM14x1,5 RHT 

 

 

th:MM12xth:MM12x1.0 RHT L:225mm 

L:335mm  

L:329mm  

L:329mm  

di:Ø18 do:Ø55,3 

di:Ø14,2 do:Ø56,6 

di:Ø14,2 do:Ø56,6 

10CT0600 

10CT0610 

17PE0400 

17PE0401 

17PE0900 

17PE0901 

20PE040020PE0400 

26PE0600 

26PE0900 

26PE0901 

38CT0300 

38CT0310 

38CT0311 

8

OPR 14238 >

38CT031038CT0310

AT6 AUT. TRANSMISSION > OPR14573

17PE0400

7

11 2

10CT0610

12

13

2

10CT0610

4

65

3

38CT030038CT0300

38CT0311 38CT0311

17PE0401

17PE090117PE0900

20PE040020PE0400

10 89

26PE0600 26PE060026PE090026PE0901

10CT0600

1

10CT0600

1

-



1

2

3

4

5

6

77

3640 68 

3817 89 

3817 88 

3812 F2 

5087 57 

3523 92 

3523 3523 91 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock For TCA 

Silentblock Silentblock For TCA 

 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:276mm 

L:334mm  

di:Ø14,1 do:Ø55,3 

di:Ødi:Ø14,2 do:Ø55 

10PE1003 

17PE1105 

17PE1106 

20PE1107 

26PE1105 

38PE0605 

38PE080038PE0800 

1 5087 57Stabiliser Link L:334mm 26PE1105

26PE1105

17PE1105
20PE1107 20PE1107

17PE1106

26PE1105

26PE1105 26PE1105

38PE0800

38PE0605

10PE100310PE1003



1

2

3

4

5

6

77

8

3640 68 

3817 89 

3817 88 

3812 F2 

5087 57 

3523 76 

3523 923523 92 

3523 91 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock For TCA 

Silentblock Silentblock For TCA 

Silentblock For TCA 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:276mm 

L:334mm  

di:Ø14,1 do:Ø55 

di:Ødi:Ø14,1 do:Ø55,3 

di:Ø14,2 do:Ø55 

10PE1003 

17PE1105 

17PE1106 

20PE1107 

26PE1105 

38PE0600 

38PE060538PE0605 

38PE0800 

1 5087 57 Stabiliser Link L:334mm  26PE1105 

26PE1105

17PE1105
20PE1107 20PE1107

17PE1106

26PE1105

26PE1105 26PE1105

38PE0800

38PE0605

10PE100310PE1003

38PE0600



Bipper
PEUGEOT

BIPPER (AA_)
BIPPER TEPEE (A9)

02/2008 ->
04/2008  >-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

10

11

3 52 087 

3817 86 

3817 87 

4001 77 

5087 79 

16 109 420 80 

116 109 421 80 

3 52 380 

16 109 420 80 

16 092 747 80 

16 092 746 80 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TCA Left 

TTCA Right 

Silentblock for TCA 

Silentblock for TCA 

Strut Mount Left 

Strut Mount Right 

10FI3505 

17FI3505 

17FI3506 

20FI3505 

26FI3505 

30FI3505 

30FI350630FI3506 

38FI5506 

38FI5507 

45FI3505 

45FI3506 

c:Ø16    

c:Ø11,7 th:FM14x1,5 RHT 

c:Ø11,7 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:274mm 

L:290mm  

 

 

26FI3505

5 11

4
2 3

10

9

8

7

26FI3505

45FI3506

20FI3505

38FI5506

38FI55071 1

10FI3505 10FI3505

17FI3505 17FI3506

30FI3506 

20FI3505

45FI3505

-> 05/2010

1 1

10FI3505 10FI3505

8

38FI5506

06/2010 ->

6

30FI3505 



Boxer I
PEUGEOT

BOXER Box (230L)
BOXER Bus (230P)
BOXER Flatbed / Chassis (ZCT_)

03/1994 - 04/2002
03/1994 - 04/2002
03/1994 - 04/2002

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

3640 32 

3640 33 

4018 A3 

4018 A4 

5087 37 

Ball Joint 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link 

 

th:M16x1.5 RHT  cp:1/8 cs:Ø17  

th:M18x1.5 RHT  cp:1/10 cs:Ø19,5  

c:Ø14,4 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:315mm 

 

10FI3002 

10FI3003 

17FI3200 

20FI3200 

526PE0500 

526PE0500

17FI3200

5

4

3

1 1

2 2

3

526PE0500

17FI3200
20FI3200 20FI3200

10FI3002

10FI3003

10FI3002

1.0-1.4 T

P.S

1.8 T

10FI3003



1

2

3

4

5

6

3640 55 

3640 54 

4018 A3 

4018 E0 

4018 A4 

5087 37 

Ball Joint 

Ball Joint 

Tie Rod End 

Tie Rod End 

Axial Joint 

Stabiliser Link 

 

th:M16x1.5 RHT  cp:1/6 cs:Ø17  

th:M18x1.5 RHT  cp:1/6 cs:Ø19,8  

c:Ø14,4 th:FM16x1,5 RHT 

c:Ø16,6 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:315mm 

 

10FI3004 

10FI3005 

17FI3200 

17FI3205 

20FI3200 

526PE0500 

526PE0500

17FI3200

526PE0500

17FI3200
20FI3200 20FI3200

17FI320517FI3205
20FI3200 20FI3200

10FI3004

10FI3005 10FI3005

10FI3004



Boxer III
PEUGEOT

BOXER Box
Boxer Bus
BOXER Flatbed / Chassis

04/2006 -->
04/2006 -->
04/2006 -->

Expert

EXPERT Box, Van (222)
EXPERT Flatbed / Chassis (223)
EXPERT (224)

07/1995 - 12/2006
07/1995 - 12/2006
07/1995 - 12/2006

526PE1000

17FI3210 17FI321120PE0700

10FI3210 10FI3210

20PE0700

6

4

1

2 3

5

26FI3210

5

526PE1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

3640 67 

16 109 764 80 

16 109 763 80 

4001 E4 

135 54 49 080* 

5081 N9 

Ball Joint 

Tie Rod End 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link 

th:M16x1.5 RHT  cp:1/6 cs:Ø20,5  

c:Ø16,7 th:FM16x1,5 RHT 

c:Ø16,7 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:260mm 

 

10FI3210 

17FI3210 

17FI3211 

20PE0700 

26FI3210 

526PE1000 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4059 09 

3812 A4 

5087 35 

Tie Rod End 

Axial Joint 

Stabiliser Link 

 

c:Ø12,6 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:306mm 

  

17FI5100 

20FI5100 

26FI5100 

2

1 1

3

26FI510026FI5100

17FI5100 17FI5100

--> OPR. 09792--> OPR. 09792

20FI5100 20FI5100

26FI3210



EXPERT 
PEUGEOT

EXPERT (VF3) 01/2007 ->

26CT1000

20CT1000

3

2

17CT1000

11
20CT1000

17CT1000

26CT1000

3

26PE5000

20PE5000

5

4

17PE5001

3

17PE5000

2

10PE500010PE5000

11

20PE5000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

3817 73 

3812 F0 

5087 56 

Tie Rod End 

Axial Joint 

Stabiliser Link 

17CT1000 

20CT1000 

26CT1000 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

98 186 555 80 

98 203 400 80 

98 203 401 80 

98 203 402 80* 

98 090 901 80 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

10PE5000 

17PE5000 

17PE5001 

20PE5000 

26PE5000 

EXPERT (V_)
TRAVELLER (V_)

04/2016 ->
04/2016 ->

26PE5000

5



PEUGEOT
J5

J5 (280, 290) 09/1981  03/1994-

4 33

10FI300010FI3000

-> 09/1985

17FI3000 17FI3000

20AR010020AR0100

1

10FI300110FI3001

09/1985 -->

2

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

3640 17 

3520 76 

3817 11 

9750001180 

Ball Joint 

Ball Joint 

Tie Rod End 

Axial Joint 

 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,79  

th:M16x1.5 RHT  cp:1/8 cs:Ø17  

c:Ø14,5 th:FM16x1,5 RHT 

th:FM18x1.5 RHT L:327mm 

10FI3000 

10FI3001 

17FI3000 

20AR0100 



PEUGEOT
J7

J7 08/1968 - 03/1980

1

10PE1015

17PE1030

22PE107022PE1070

17PE1050

10PE1055

1

34

10PE1055

2

5

10PE1015

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

3608 25 

3622 15 

3874 31 

3874 30 

3813 30 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End Right 

Tie Rod End Left

Rod Assembly 

 

 

th:M18x1.5 RHT  cp:1/10 cs:Ø21,4 do:Ø48 

c:Ø24   do:Ø48 

c:Ø15 th:MM20x1,5 RHT 

c:Ø15 th:MM20x1,5 LHT 

th1:M12x1.5 RHT   

10PE1015 

10PE1055 

17PE1030 

17PE1050 

22PE1070 



Partner
PEUGEOT

Partner (5F)
Partner Box (5)
PARTNER (M49M59)

06/1996 - 03/2008
06/1996 - 07/2008
11/1996 - 03/2008

26CT0300

10CT0200

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

4

5

6

3640 38

3817 50 

3812 C0 

5087 46 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link 

 

c:Ø16   

c:Ø11,95 th:MM14x1,5 RHT

th:MM12x1.0 RHT L:334mm 

L:300mm  

10CT0200

17PE1502 

20PE1100 

26CT0300 

26CT0300

5
4

2

17PE1502
20PE110020PE1100

4

10CT0200

Without P.S

17PE1502

6



Partner
PEUGEOT

Partner (5F)
Partner Box (5)
PARTNER (M49M59)

06/1996 - 03/2008
06/1996 - 07/2008
11/1996 - 03/2008

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

3

7

8

3640 43 

3640 51 

3523 75 

3523 75 

Ball Joint 

Ball Joint 

Silentblock 

Silentblock 

c:Ø16    

c:Ø18    

di:Ø18,7  

di:Ø18,7  

10CT0100 

10PE1100 

38CT0208 

38CT0210 

1 1

7

8

38CT0208

10CT0100

Ø8

Ø10
38CT0210

PIN Ø16

Ø10

PIN Ø18

10CT0100

3 3

7

8

38CT0208

10PE1100

Ø8

38CT0210

10PE1100



Partner
PEUGEOT

Partner (B9)
PARTNER Box
PARTNER Tepee (B9)

04/2008 -->
04/2008 -->
04/2008 -->

26PE1105

17PE1105
20PE1105

38PE0800

38PE0605
10PE1003

23PE080123PE0800

17PE1106

26PE1105

7 7

4

9

8 1

65

10PE1003

1

3
2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

3640 68 

3817 89 

3817 88 

3812 F4 

3520 S2 

3521 P3 

505087 57 

3523 92 

3523 91 

20PE1105

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

TCA Left 

TCA Right 

Stabiliser LinkStabiliser Link 

Silentblock For TCA 

Silentblock For TCA 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:265mm 

   

   

L:334mm L:334mm  

di:Ø14,1 do:Ø55,3 

di:Ø14,2 do:Ø55 

10PE1003 

17PE1105 

17PE1106 

20PE1105 

23PE0800 

23PE0801 

26PE26PE1105 

38PE0605 

38PE0800 



PEUGEOT

RCZ 04/2010 -->

-

-

26PE1105 26PE1105

3

2

38PE0800 10PE1003

17CT1000

5 1

10PE1003

1

38PE0605

Exc. RCZ R

4

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

3640 68 

3817 73 

5087 57 

3523 92 

3523 91 

Ball Joint 

Tie Rod End 

Stabiliser Link 

Silentblock For TCA 

Silentblock For TCA 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,6 th2:M38x1.5 RHT 

 

L:334mm  

di:Ø14,1 do:Ø55,3 

di:Ø14,2 do:Ø55 

10PE1003 

17CT1000 

26PE1105 

38PE0605 

38PE0800 

2

17CT1000

Rcz


